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5-44.
Find the slope of the line you would get if you graphed each sequence listed below and connected the points. Homework Help %

a.5,8,11,14,... b.3,9,15,...

©.26,21,16, ... d.7,8.5,10,...

5-45.
For the line passing through the points (2, 1) and (2, —11): Homework Help %

a. Calculate the slope of the line.

b. Find an equation of the line.
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5-46.
Allie is making 8-dozen chocolate-chip muffins for the Food Fair at school. The recipe she is using makes 3-dozen muffins. If the original recipe calls
for 16 ounces of chocolate chips, how many ounces of chocolate chips does she need for her new amount? (Allie buys her chocolate chips in bulk and
can measure them to the nearest ounce.) Homework Help %
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5-50.
For the function f() = v/3% — 2, find the value of each expression below. Homework Help %

a. f(1) b. f(9) . f(4) d. f(0)

e. What value of z makes f(z) = 6?

551,
Simplify each expression below. Homework Help %

a.y+0.03y b.z—0.2z c.z+0.002z
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5-52.
A tank contains 8000 liters of water. Each day, half of the water in the tank is removed. How much water will be in the tank at the end of: Homework
Help %

a. The 4" day? b. The 8" day?

5.53.
Solve each system. Homework Help %

ay+3z=-10 b6z =72
2 dzty=4
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